GATITU SECONDARY SCHOOL, P.O. BOX 327 - 01030, GATUNDU.
FORM 1 MATHEMATICS END OF TERM | EXAMINATION. 2014.
NAME: e w (G saEMl> ADM:

Instructions:

1.Write your name, Admission number and class in the space provided.
2.All questions must be answered in the spaces below each question.
3. All working must be shown.

4, Marks may be given for corr\ect working even if the answer is wrong,.
(100 Marks)

1a.Write the following numbers in words.
i)307 204 (2mks

ii)99 099 099 (2mks

b)Write the following numbers in figures:
i)Nine Million, two hundred and twenty three thousand and thirty.
YA
25
722°20
/ )
05
q,225,°2
ii) One hundred forty five million and one.
| Hggusvovd
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{2mks

(2mks

2. Anumber m is formed by wr;{ing all the prime numbers between O and 10in an
ascending order. Another number is formed by writing all the square numbers between O and

a)Find m-n

10 in a descending order.
\ (2mks
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b)Express (m —n) as a product of its prime factors.

Q,Jxéﬁs’ﬁ

—_

3.Find the common factors for ea;:h of the following:-
a)30 and 48

b)50 and 100
\N..;_z,(z_-{ S""S» 27‘5

-

c)d8, 80 and 144
&0~ 27" 2x 205

ul = 21 2% przrers

4. Arrange the following fractions in descending order of size.

(2mks

(2mks

(2mks

(3mks

(3mks
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ob 2, 28 25 20,
} 7 ﬁamks

\ > }' 7 P
b) / ’ ’/ "4 —
e * 4o
-, 'Z < 3 |
R A A 2
///-——-——/'
5.Write down the factorization in power form of the following numbers.
A)999 (2mks
Q9= 3 2 < W\
b) 4545 {2mks
. X110 |
qus ,3 “wS ~ >
—
3
6.Evaluate the following & 0 DMAS.
a) —-8'42+12x9-4x6
56 — 7 x 2 (3mks
— L 410E — 24
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b) 28-(-18) - 15—(-2) (-6)
3 (3mks

7. Three bells ring at intervals of 9 minutes, 15 minutes and 21 minutes. The beils will
next ring together at 11.00 p.m. Find the time the bells had last rang together. (4mks

VVe Qo 0
Q’; 37‘} _ 515'

s = 37S f,;/u'f—‘
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8. A farmer distributed his bags of cabbages as follows:-

A certain hospital received a quarter of the total number of bags. A nearby school received half

of the remainder. A green grocer received a third of what the school received. What remained
- was six bags more than what the green grocer received. How many bags of cabbages did the

farmer have? (4mks
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b)Kutu withdrevgome Eoneyfrom a bank. He spent 3/8 of the money to pay Mutuas school

fees and 2/5 - If he remained with Ksh. 12,330, calculate the amount of
money he paid for T&tus school fees. (4mks
ke .
A2 12,330
2, => M 9
¥ sY LoV
% = ¥ SN2 —
b , S0V
r2 = 1S Slf
}/g s &40 3/{ 4 '
1N 2, b €57
40 5 - 290, TSv =
Z , = 12,330 \

9.Work out the following; giving the answer as a mixed number in its simplest form.

a) - 4mk 2. -1 _'-’——
2.2 1 0&’.&--— 1 (ks é 10 (b
%7 4 4 -
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¢)Evaluate:-
0.015 + 045
4.9 x 0.2 + 0.07

= 15

b s ¥ 05
aqg "‘_’0'07

10.

(3mks

j_//’/i
30 19

A function was attended by men, women and children. There were 900 men and three

times as many women. A total of shs 142}500 was raised. If each man contributed shs 50 and

each eoman shs 35, what was:-
a)The amount contributed by the children.

M G oo
womea — 27V
/

—
—

__ qu,svo
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210073 =
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(2mks
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b)The number of children who attended the fun

w,, %00 \

(2 QU™
Tl
2, 9
3/
11. Work out
a)16.80756 — 7.062
b, goTsh
7-0b % |
= 2.3¢
-_—

S

ction if each child contributed sh. 10. (2mks
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(2mks
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b)9.31 x 0.13 (2mks
Q.21 <05 =

| 2103

———

—

12. Which of the following number is divisible by 3 .
i)j101 (i) 675 (iii) 31243 (3mks
NIt ue)d N .

b)Which of the following numbers is divisible by 11

i)2574 (i) 902 (i) 366 (3mks
43 ' Yeo vob,

13a) Write down the common factors of the following numbers, hence state the highest
common factor.

a) 582, 344 and 644 592 | 2Ly ’bLLK{Mmks
) [ 112 | 32%

b)792, 13068 and 25 958. 2, }(} %1 (4mks

129 b€ = JTINS= - dake
25958 = &7

Sy Ixy)
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14. E.xpress each of the following as a ﬁaction.
a)0.3 33 (2mks
FH= 0322 3
\7oc — B 3 a4

1T T a
Q7('_,’;- 3 /,)
e
b) 2.750 (2mks

- >
% = axo™ | FT7
£ g¢ \\
& Z:

—_
y

c) 3.256 (3mks

15. Write down.
a)2.9678 correct to:
i)1 decimal place

% 0

P

ii)2 decimal places

297

—

iii) 3 decimal places

2-9b¢

———
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b)Write down 0.0905 correct to:

i)1 decimal place {(Imk

O |

-
iii)2 decimal places (1mk

D09

e

iii)3 decimal places (1mk
D+ 091
—
c)Write each of the folli wing as a single decimal
T \/O y 2 0\ )
v\
0 _— |
\
[ U S D S SR ) i 4+ 0.0
\60 G \dvﬁw O:° 00003
. ¥ pr20?
;___/_—-——'"’
d)Write down the number whose standard form is '
. 2 2
i)3.12x10 3’),2’74 W = 2,2 (1mk
i)8.888 x 107 (2mks
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